TR Her AL

1) (+5—(+4)
=(+5)+(—4)
=+1

—3)—(+2)

(=3)+(—2)

-5

+6)—(+9)

(+6)+(=9)

-3

—4)—(+8)

(—4)+(—8)

—12

©

3)

@

21 (1) (+4)—(-5)
=(+4)+(+5)
=49

@ (=9—=(=7)

(=9 +(+7)

-2

3) (+8)—(=3)

=(+8)+(+3)
=+11

4 (=16)—(-9)

-7

]
2

—4)—0
—4

2 0—(+9
0+(=5)
-5

@ 0-(=9H
=0+(+5)
=+5

@ (+5—(+1)

=(+5)+(=1)
=+4

@ (-8)—(-5)
=(—=8)+(+5)
=-3

@ (=9—(-2)
=(=9)+(+2)
=7

@ (+4)—(=7)
=(+4)+(+7)

=411

(=16)+(+9)

6 (=1)—=(+6)
=(=1)+(-6)
=7

6 (=3)—(=3)
=(=3)+(+3)
=0

M (=7-0
=-7

® (+13)=(+19)
=(+13)+(—19)
=—6

@ (=4H)—(-23)
=(—4)+(+23)
=+19

(10) (+36)—(+67)
=(+36) +(—67)
=-31

(1) 0—(—24)
=+24

(12) (=57)—(+39)
=(—57)+(—39)
=96

13) (—49)—(+31)
=(—49)+(=31)
=80

(14) (—62)—(—54)
=(—62)+(+54)
-8

(15) (—264)—(—524)

1) (—46)—(+7.1)

=(—4.6)+(-7.1)
=-—117

(2) (+0.5)—(-1.2)
=(+0.5)+(+1.2)
=417

@) (+5.36)—(+2.47)
=(4+5.36)+(—2.47)
=+2.89

4 (—0.2)—(—-0.03)
=(—0.2)+(+40.03)
=-0.17

(—264)4(+524) = +260

® <+%>—<—%>
-(+3)+(+3)
:(+£—8)+(+%
o (~5)=(-)
(-3)+(+3)
(-l



